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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :
. 1x10=10

T epprRd P wab e i
Ja) Define demograpHy.
Hog IR |

() Give one example of renewable
resource.
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(2)

In which year was Paris Agre ement
Climate Change held? on
o 76 T RIS iR pfe g
cafeet ? fifre
What is

relations?

o g T g 6 gE e
Define public goods.

reeal T3 e e |

key success factor of

meant by land tenure

Give one
governance.

P LR I TR RS o1 o7 |

State the meaning of individual
behaviour.

Fog S99 S 00 F40
Write one reason of urban population
growth.

ORI TP I G561 P AT

What is life expectancy?

TR SFE 2
Define crude birthrate.

SCMRS ey st o |

( Continued )

(3)

(k) What is population dependency ratio?
TPRYR fASTe! werre 3ferca R w12

MY Mention one problem associated with

land.

ST S TS B I w4 |
Give one characteristic of social group.
ST ST BT ey fors |

_,('{) What'is microfinance?
-y el 12

What is meant by common property

(m)

]

resource?
st s e e e qa I

2. Answer any five from the following
2x5=10

questions :

oo e R e Sfiobr T fa
ﬂa} Define sustainable development.
e T e |
te

(b) How does population growth contribu
Y to the development ~ process of

developing countries?

SrERe (TS PRI Ffac BRI dfeFvre
fmca Sif¥zA o ?

22A/853

( Turn Over )



(e)

()
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22A/853

mvolving in g0vernance, eﬁcienmes
T IRES fran
3 STYR
— 701 0 ey
- Give the definition of general fertility
rate.
mmq%ﬁmmmmﬁm

What are the functions of individual
behaviour?

FOF AR FRIER 5 2

Mention two areas where developed
countries can help developing countries
to protect environmental degradation.

IRre S= s @ Rt Tae
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01

( Continued )

(5)

any four from the following
swer S5x4=20

s questioﬂs . a Fi T ﬁlﬂ :
oGkl oL

7 Briefly explain the relationshi;) .between
/(a) utrition and labour productivity,
n

2 BTSSR T T
Fefn ¥

) Point out the main determinants of
good governance framework.

PP IRER I R w1

(c Explain the purpose-' of t.he study
of individual behaviour in social
environment.

SHIES R ¥ 6 Q497 K S
BIIEEIN

(d) Write a note on financial instability
in a globalized world.

ereee e Ry wfqer erre oft Gr
o

V(E) What are thz? consequences  of
migration? Explain.

e RS & e 2 e #4

: : ( Turn Over )
22A/85



(6)

Af) Explain the mterrelationshl b

€conomic activity ang clim tp e
a hange

w%ﬁo OF I R Mgy TS gy
SGST=ECET 7701 0y |

(@) What are the caygeg of gender
Inequality in g family?
AR RoT fagar (T T R

(n) Explain the inter~h’nkages between

rural factor marke

. ts in developing
countries.

”“”E'CW"WWEWW N
SIS 1 747 |

Answer any Jour from the following
questions : 10x4=40
T PRI R e SRR T fi -

(@) Examine the major contributions of
agriculture to the process of economic
development,

T S dfeFmre IR 33 e
R 3] |

24 853

( Continued )

=

(7)

how globalization affects

g e of developing

(v) the commodity trad

e e (PR T (TS fne ooR
EXIl
C"ﬁmi’ CEoAl
lain the functioning of credit m
e i:{z rural economy-

Sl
mq@%ﬁwwmﬁﬂw

arket

tors
hat is migration? What are the fac
ﬂ s lead to migration?
: that le
Fora & 337 & o FRFY Ad ALEA
Zqe
wafoe = ? |
hic
" Critically discuss the c'lemograp )
/ e) transition theory of population.
PRI PRI FAIGS OGOl DAl

SEFIC] ALl Fq0|
of land
i yvarious measures
i lesocrij: How does it aﬁ:;act the
re . . B
productivity of agrarian society A
- 419
SR viegq Rfdw IREIER AT T
: Fhfsfee & AT
W
@R e T ?
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(8)

Discuss the factors which influence
individual behaviour in an organization.

SHeafdl GoT® TOF BI0IIF ASRS 31 TR
e 91 |

(9)

(h) Discuss the terms  governance
in organization and community
governance.

SRelde P S T W ¥ B Ry
SICEDAT 41 |
(i)~ Explain the connection between income, -

mortality, fertility and human capital
accumulation.

R, TPRE, TRR WE T R AR
O I WP M1

() Explain the decline in the efficiency of
an organization in terms of Hirschman’s
exit, voice and loyalty theory.

AT 92, T I IS OR GRS
ol GO Tl AT g A1, I <4 |
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